(V)] FMP 75> S 7—\ (@%UR GEREMIR)
- PLUNGE ARBOR (PLUNGE CUTTING & HIGH FEED CUTTING) @MﬂN"r‘d
I E=AN—=FLFE=IHEeIEE! (FT7aY) A

Coolant through oil hole type is available (option).

ST ETEOESE. FEE. SR E1L.

High squareness, flatness, accuracy on finished surface.
o EIFEDS Y HIFE A EHE L, No undulation on finished surface.
* £EIOFEVBRE C&R3E, Ideal for deep cutting on die and mold.
* 3t DN T Thn I BRI 0D %G #E . Reduction of machining time on roughing and finishing.
* SR & B&&E R, High rigidity and for high speed cutting.

NI, dINA

~

P
7
I»

2

— | M N B ;;@

JAY
\Tj{ 3 ﬂ
T
|
(-
= BT40
g CODE D L1 L2 H D1 K W G
BT40-FMP16 __ -150 - 40 150 | 123 HCB-
= 200 - 40 6 |"200 [173 | '® |38 | 5 | 8 | msxg3s
o) BT40-FMP22  -150 - 50 150 | 123 e
By -200 - 50 oo 200 173 | g 5 10 HCB-
BT40-FMP22  -150 - 63 150 | 123 o M10 x 35
200 - 63 200 | 173
BT40-FMP254 -150 150 | 123
P 254 3201125122 |60 | 5 |95 | MBAMIZ2
= )
CODE D L1 L2 H D1 K W G
BT50-FMP16 - 90 - 40 90 52
120 - 40 120 | 82 HCB-
150 - 40 16 150 | 112 | '6 |38 | 5 | 8 M8 x 35
200 - 40 200 | 162
BT50-FMP22  -150 - 50 150 | 112
200 - 50 200 | 162
250 - 50 250 | 212
2300 - 50 300 | 262 48 | 5
350 - 50 350 | 312
2400 - 50 400 | 362
500 - 50 oo 500 | 462 | .o 1o | Hoe-
BT50-FMP22  -150 - 63 150 | 112 M10 x 35
200 - 63 200 | 162
250 - 63 250 | 212
300 - 63 300 | 262 60 | 5
350 - 63 350 | 312
2400 - 63 400 | 362
500 - 63 500 | 462
BT50-FMP27  -150 - 63 150 | 112
200 - 63 200 | 162 .
250 - 63 27 250 | 212 | 20 |60 | 6 |12 | HCB
300 - 63 300 | 262
350 - 63 350 | 312
BT50-FMP27 __ -150 150 | 112
200 200 | 162
250 250 | 212 .
300 27 300 | 262 | 20 | 78 | 6 |12 | OB
2350 350 | 312
400 400 | 362
500 500 | 462

WY 1 XKV EEN =LK Y. Special size is available upon request.
T E—AN—FAIER—IDZRAWIEEERIC (-OH) & ZHRREVET,
U E—AN—ICTZHERADBRIERHE I F TRV NDRIEHETY . FMIEP71
When ordering coolant through type, add “-OH" to the end of model number.
Special clamping bolt with coolant hole is required for coolant through type (See page 71).



FMP 752 7—)\ (Z#\A FEREINIA)

PLUNGE ARBOR (PLUNGE CUTTING & HIGH FEED CUTTING)

@MEN

|j

ww.manyo-tools.co.ip  uape i s

BTS0

CODE D L1 L2 H D1 K W G
BT50-FMP25.4 150 150 | 112
200 200 | 162 L
250 250 | 212 =
-300 254 [ 300 | 262 | 22 | 60 | 5 | 95| MBA-M12 -U
_350 350 | 312 7
-400 400 | 362 5
-500 500 | 462 <
BT50-FMP22.225 -150 - 50 150 | 112 <
200 - 50 200 | 162 b
250 - 50 250 | 212 7
-300 - 50 300 | 262 a7 | a |
-350 - 50 350 | 312 /\
~400 - 50 400 | 362
500 - 50 500 | 462 HCB- T
BT50-FMP22.225 150 - 63 |2222° 150 | 112 | '° 8 | Mioxas =
200 - 63 200 | 162 z
250 - 63 250 | 212 (9}
300 - 63 300 | 262 60 | 4 i
350 - 63 350 | 312 :5
400 - 63 400 | 362 W
500 - 63 500 | 462 8
BT50-FMP31.75 -150 - 80 150 | 112
200 - 80 200 | 162
250 - 80 250 | 212
300 - 80 300 | 262 76 | 7
350 - 80 350 | 312
400 - 80 400 | 362
500 - 80 500 | 462 HCB-
BT50-FMP31.75 150 -100 | > "® 180 [ 112 | 3° 1271 M16 x 40
200 -100 200 | 162
250 -100 250 | 212
_300 -100 300 | 262 96 | 7
350 -100 350 | 312
400 -100 400 | 362
500 -100 500 | 462
BT50-FMP38.1 150 -125 150 | 112
200 -125 200 | 162
550 155 381 5eo 315 | 34 | 98 | 7 |159] MBA-M20
300 -125 300 | 262

WEFR Y+ XIS K EENZLET . Special size is available upon request.
T B—RI—F A IR—=IOZRAGIIERIC(-OH) £ ZIERBEVLETY,
U EA—AN—ICTZHERADBRIERHE VT TRV MNDRIEHETY P71
When ordering coolant through type, add “-OH" to the end of model number.
Special clamping bolt with coolant hole is required for coolant through type (See page 71).




Bt 77 o7—N

PLUNGE ARBOR WITH CARBIDE BAR %ﬁ'%:ﬁ:

MMHNAL
¥¥& Features o T o
+ EEV ICEROERIET—/N,
High rigidity arbor for less vibration.
2 I:I_:z I\o
Low cost.

¢ 2EIREHR (BB T EH#ICEHBIFOB T X8ICHERAT).

Two face contact shank(Can be used for both BT and BBT spindle).

U B—=ZAN—F A IWER—=ILFEF],
Coolant through body.

BBT50 L H

N\UVNNIN RS

|
N

Di
4
—

— .
a — :
= s :
m
>
% CODE D L1 L2 H D1 K W G
TBT50-FMP16CB -150 - 40 150 112 HCB-
S 200 - 40 | '® [200 | 162 | '® 38| 5 | 8 | ygx 35
= TBT50-FMP22CB -250 - 50 250 212 HCB-
o -300 - 50 22 300 262 18 | 48 5 10 M10 x 35
I -350 - 50 350 312
(@) TBT50-FMP22CB -250 - 63 250 212 HCB-
:5 -300 - 63 22 300 262 18 | 60 5 10 M10 x 35
w -350 - 63 350 312
5 TBT50-FMP31.75CB -250 - 80 250 212 HCB-
m -300 - 80 31.75 | 300 262 30 76 7 |12.7 M16 x 40
g -350 - 80 350 | 312
o) BE 2—AN—ICTZERDBERERHE T Z TRV NDREVLETY,
Special clamping bolt with coolant hole is required for coolant through type.
B, A S /s
FMLW ZEEE0O0/7 7—/\ (%Y A)
LIGHT WEIGHT HOLLOLW TYPE ARBOR (HIGH FEED CUTTING) .
- L
CODE D L1 L2 H D1 | K W Kg G
BT50-FMLW22 -250 - 63 250 | 212 6.8 HCB-
-300 - 63 22 300 |262| 18|60 | 5 10 7.4
M10 x 35
-350 - 63 350|312 8.0
BT50-FMLW22.225 -250 - 63 250 | 212 6.8 HCB-
-300 - 63 |22225|300|262 |18 |60 | 4 8 7.4
M10 x 35
-350 - 63 350|312 8.0
BT50-FMLW31.75 -250 - 80 250 | 212 8.7
-300 - 80 300 | 262 76| 7 9.7
-350 - 80 350|312 10.7 HCB-
BT50-FMLW31.75 -250 -100 81.75 250 | 212 30 127 11.4 M16 X 40
-300 -100 300 | 262 96 | 7 12.9
-350 -100 350|312 14.4
BT50-FMLW38.1 -250 -125 250 | 212 12.0
-300 -125 38.1 300 (262 (34 |98 | 9 |159]| 13.6 MBA-M20
-350 -125 350 | 312 15.1

WEHTY 1 ZEIUCKWEIENZLET. Special size is available upon request.
T E—AN—F A IEHE—IDOZHmIEEERIC (-OH) & ZHEREVET,
When ordering coolant through type, add “-OH" to the end of model number.



FMP Y1 KAy aB7—/\

SIDE CUTTER ARBOR (FMP)

@MENED

BT40

WEHY 1 ZEEUCKWEEN =L ET . Special size is available upon request.
T R—AN—F A IEHR—IDZHA@IEEERIC (-OH) & ZHRREVET,
U E—AN—ICTZERADBRIERHE VT 7RIV NDRIEHETY . FMIEP71
When ordering coolant through type, add “-OH" to the end of model number.
Special clamping bolt with coolant hole is required for coolant through type (See page 71).

FMP 75X AT ay
PLUNGE ARBOR EXTENSION

REMLT aAb7—/N FMPH
* SREFONIT. 7—N\DREDBD LRV RVBICHAERBOELET,

Extension easily adds extra length of arbor for deep cutting on die and mold.
HI

CODE D L1 L2 H D1 K W G
BT40-FMP27 105 - 50 105 | 78 HCB
n 150 - 50 27 [ 150 | 123 | 20 | 48 6 12 M12 x 35
= 200 - 50 200 | 173
=
H BT50
1 CODE D [ L1 L2 [ H [DI [ K[ W G
N BT50-FMP27 -105 - 50 105 67
i) 150 - 50 150 | 112
Y 200 - 50 200 | 162 HCB-
A 250 - 50 | 27 [ 250 | 212 | 20 | 4B | & | 12 Mmiz2xas
=2 -300 - 50 300 | 262
7 350 - 50 350 | 312
I»
/\

2
=)
m
@)
C
—
—
m
By
>
)
vy}
@)
By

far K
T G
»j‘:L Hi = [ \‘ T m
e e T
HCB
L H
CODE d L D H K| W |HT | K1| Wi G

FMP22-0D48 - 50 50 48 M10 x 80
-100 100 M10 x 130

-OD60 50 22 50 oo 18 5 10 | 20 | 6.3 104 M10 x 80
-100 100 M10 x 130

FMP27-OD73 - 50 50 M12 x 80
100 27 100 73 | 20 6 12 | 23 8 |124 Mi2 < 130

FMP22.225-0O0D47 - 50 50 a7 M10 x 80
-100 100 M10 x 130

-OD60 50 22.225 50 o 18 4 8 19 5 8.4 M10 x 80
-100 100 M10 X 130

FMP31.75-OD76 - 60 60 76 M16 X 95
-120 120 M16 X 160

-OD96 - 60 31.75 60 o6 30 7 127 32 8 |12.7 M16 x< 95
-120 120 M16 X 160

WHFHY A ZEHECKVEENZLE Y, Special size is available upon request.

=
=~

|

4IE

K|

FMP 75 O &BTH T 54—
(CONVERSION ADAPTER)
NEEUR FERSIMIADY Z—FHRT7—/N\

UL

e

L H

CODE d D1 LID[H]K[W]J[HTI]KI]WI &
FMP22 - 22.225-0D48 - 35 50 55 255 48 4 s 120163 84| M10 % 65
-OD60 - 35 3500 15
FMP22.225 - 22-0D47 - 35 a7
ODBO - 35 22225 22 ) 5 10|/20| 5 [10.4/ M10 x 65
FMP31.75 - 32 -OD76 - 50 76
0OD96 - 50 31.75 32 50 96 22| 7 |14 (32| 8 (12.7| M16 X 85

WEHEY  ZEEXCKVEMENZLET., Special size is available upon request.



(V)] MBA 957Kk

CLAMP BOLT FOR FACE MILL ARBOR
G G

HCB F+v7RILb

CAP BOLT FOR FACE MILL ARBOR .

o | =
L3 L3

r 1w r |12 %
L L >
7
CODE D d L L1 2 [ 13 G H S
MBA-M 8 20 | 156 | 25 | 16 9 7 [ M 8xP=125 | 6 >
M10 28 | 18 | 31 20 | 11 9 | M1OxP=15 8 A
M12 383 | 5,5 |85 [ 23 | 12 | ,, [ MI2xP=1.75 [ 10 K
M16 40 38 | 22 | 16 M16xP=2.0 14 L
M20 50 | 27 [ 50 [ 30 [ 20 [ ,, | M20xP=25 17 K

M24 65 | 37 | 58 | 34 | 24 M24xP=3.0
—_ oL o
MBA-OH &/ &2—AWV—RI77FIVb -
CODE D d di L L1 L2 [ 13 G H S
MBA-M16-OH | 40 | 23 38 | 22 | 16 | 10 [ M16xP=20 14 E
M20-OH | 50 | 27 4 50 [ 30 [ 20 | ,, [M20xP=25 17 3
M24-OH | 65 | 37 58 | 34 | 24 M24xP=3.0 &
-
o
By
r
(@}
m
2
(.
-
>
X
W
o
By

‘ L |1 H L1
HCB HCB-OH

CODE D L L1 G H

HCB-M 8x35 13 8 M 8xP=1.25 6
M10x35 16 35 10 | M10xP=15 8
M12x35 18 12| M12xP=1.75 10
M16x40 24 40 16| M16xP=2.0 14

HCB-OH 2 4—AI—A*+ Yy 7HRIV b

CODE D di L L1 G H

HCB-M 8x35-OH 13 8 M 8xP=1.25 6
M10x35-0OH 16 3 35 10 | M10xP=1.5 8
M12x35-OH 18 12 | M12xP=1.75 10
M16x40-OH | 24 4 40 16| M16xP=2.0 14




